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suenflas sallsn wHnib Lemafluflwe
BUSINESS MATHEMATICS AND STATISTICS

( SOD wHmID phEe eyl / Tamil & English Version)

[ Qurss wHLGU@TEET : 90

sTe SjaTey : 3.00 wenfl CHIW |
[Maximum Marks : 90

Time Allowed : 3.00 Hours |
Smarss damssephd sflurs udaurd 2 drersm 6T GIT LI & & &3

sfluniggé CamerareyL. @Fstudeler Gapulmudear S@ps
samgrafiiurerib o L angunss Qsfeléseab.

SidleyenTssT : (1)

2) Reod g smUL  awullamar LLHCWL TPFHUSHGSLWD
2 568My QausH@b LweaTL(ss Couam(id, LILRIGET GUenTeUSD(S,
Quendled LIwTUHSSELD.

Instructions : (1) Check the question paper for fairness of printing. If there is any
lack of fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

ugd -1 / PART - I
GO0y : (i) Sjewensgl eflanmésEhéEn aflenL_well&&aL. 20x1=20
(ii) Qar@ssiul@erer wrhn eloLsefiie Wsab gpymLw HNoLmws
Gsih0shs56 GHULELE el wWmanybd Cargg eT(Psaw.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the correspdnding answer.
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1. 2 0 waflé e nding .
8 5
. =B 5 . ~16 16
() 2+ (<) & (@) 5 (/) <
i " 2 - (0 then the value of xis :
8 §
-5 5 -16 16
@) =2 b) 2 © = @ =

5 . . .
3. (x s _3.J -1 edMalé o drer preamambd o muider Q& <yeag

X
(1) —270 (<) 370 (&) 10 (FF) 405
33
The coefficient of fourth term in the expansion of ( X — _~j is
x
(a) —270 (b) 370 (c) 10 (d) 405
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5 eleenum @ eSpisefleNmba 4 Gueny ermganet auilaeilds Caip@nsaanmd ?
) Gl (hhg ! b

The number of ways of selecting 4 players out of 5 is :
{a) 4! by 20 (c) 25
7x+5y-8=0 aranp GCamiigen gmile, :
7 7 5
s (%) 3 @ =
The slope of the line 7x+5y—8=0 is :
7 5
(a) 5 (b) —5" (C) -

()

()

o

5

ax?+2hxy+by?=0 arenm @QrleL CpreCaer(sefler srieser m), m, aafld,

(o) 2 ()

()

—2h
a

If m; and m, are the slopes of the pair of lines given by ax?+2hxy+by?=0 then

the value of m,; +m, is :

cos(—480°)-enn WL :

(21) V3 (<=8) -{9

The value of cos(—480°) is :

(a) 3 b)) -

()

(c)

| —

N[ —

—2h
(d) e
1
(") -3
1
(d) "5
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8.

10.

a1 g
tan(- - \j & (& FIDLOITEOTH|
4 ¥ @ c)l

1 —tanx 1 + tanx

(1) (1 +tanx) (=) (}_—-_Ea__n_ic_j (®) 1—tanx

™ . -
tan(z - -\‘j is equal to :

@ (Zomx) o (Fad) © e
lim e* —1 -
x—>0 X
(=1) e (@)~ (@) 1
lim [ty S0
x—>0 X
(a) e (b) nx»—1 (c) 1
Flx) = ;; i x> 1 erefléd, f(—x) =
1 e R
(1) —f () (<) F(x) (R) . Flx)
If f(x)= 1= X x> 1 then f(—x is equal to :
1+ x
1 i
(a) —f )  Fix) (c) ()

www.CBSEtips.in

(rr) 1 +tanx

(d) 1l+tanx

- (7)) O

(d O

() £

(d) f(

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

g | 7167
11 P eren @eviti anruinestg) Quighobeng el Gaepaiimet AN NN ;
. {«8) MR=MC () MR=0 (@) MC=AC () TR=AC

Profit P(y) is maximum when :

(8) MR=MC (b) MR=0 (¢) MC=AC (d) TR=AC

linitzmo =
i1 80 8

(1) 1 S () e f (@) = e () 6

(a) 1 B @ ) BRCIR

 13. g=1000+8p, —p, erefléD, aa_q -G AU :
- - - P]

(i) 21 ()8 Gu(@) 1000 () 1000-p,

If q=1000+8p, —p, then 9 is:
op;

‘(a) =1 whiis(b) 8 ‘ (‘(;) 1000 | (d) 1000-p,

14. % 100 qpaamﬁﬁumuu.t 15% W@ eiglb QsmemL 500. Lni@seten e eUHLOmeLD :
(@) T7,500 (=4)% 5,000 (8) T8,000  (m) %8500

" The annual income on 500 fshare_‘s'. of face value ¥ 100 at 15% is :

(a) T7,500 (b)) ¥5000 () 8000 (d) ¥ 8,500

[ Sl / Tum over .
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18, 2, 3,4 Al sretaellan @enad agrafl
13 AR S 1
(o) ]; (ep) 12 (@) 13 (FF) 16
The harmonic mean of the number 2, 3, 4 is ¢
(al i b 12 () %2 (dd) ":]';:;

16. A, B aap fapale goppsulsd gCsmb @ Hope) peoL@upasDsTe
Hepssey :
(=t) PAUB) (<2) P(ANB) (@) P(A/B) () (AUB)
Probability that at least one of the events A, B occur is :

(a) P(AUB) (b) P(ANB) (c) P(A/B) (d) (AUB)

17. @LPOneys Gap enweug) :
(1) 0 s = ey (<) =1 s +1 cueny
(&) -1 s 0 cueny (F) =1 pged = eueny

Correlation co-efficient lies between :

(a) Oto = (b) —1to +1 (c) =-1toO (df —1to o

18. cov(x, y)=—16.5, ox*=2.89, oy?=100 erafled, U (Hmeys QEpmeus &rers.

(=) —0.12 (<) 0.001 (&) -1 (F) -0.97

If cov(x, y)=—16.5, 0x?=2.89, oy*=100, find correlation coefficient.

(a) -0.12 (b) 0.001 (c) =1 (d) -0.97
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19. CPM &rediig
(21) SiaidE esps Lres (e
() @awadliptiyg H Guoeremento
(@) Ndsenar AL Goonaranio
() SreysE cabhs uramg GCoanearanio
The word CPM means :
(a) Critical Path Method
(b) Crash Project Management

(¢) Critical Project Management
(d) Critical Path Management

20. 2x + y < 20, x + 2y < 20, x> 0, y > 0 aTenp ELHULTHSEHES Qenhs Z=x+3Y
ere @M&ECaner srmen Saflm wgi :
(=1) 10 (<) 20 (@ o (/) S

The minimum value of the objective function Z=x+3y subject to the constraints
2x +y<20,x+2y<20,x>0andy>0is: _
(a) 10 (b) 20 ) /N8 (d 5

LS - II / PART - II
GOLY : semauBuad g damss@ns@ olmLwalssab. dam adr 30 -5

sl_Lmwwrs ade_weldsa]wb. Tx2=14

Note : Answer any seven questions. Question No. 30 is Compulsory.

21. [i ﬂ -op yESlwnpy Caremeu Siewil Rt sT_()&.

Show that [j i] is non-singular.

22. 15c, =15C__ ; eramflev, r-eu mglgu ST
If 15C, =15C__ 4, find r.

[ Hmuys / Turn ove
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24.
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26.

27.

28.
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8
3x+4y=13; 2x=Ty=~1 wpmb ax—y—14=0 erewLien gH LTaril auflEGam e

erafleh, ‘a’ -aor Wy sHneas.
Find the value of ‘a’ for which the straight lines 3x+4y=13; 2x—-7Yy=— 1 and

ax—y—14=0 are concurrent.

cos?15-sin?15 -a Wiy STEss.
Find the value of cos?15 —sin?15.
oz 0z : . - .
CTETLIGRTEUMENME &ITEHTS.

z=(ax+b) (cy+d), eraflev, == wHmo 22
ox ay

If z=(ax+b) (cy+d), then find 92 and 9Z.
ox oy

37 85!(.@6]5]65) SlenL_&@b T 25 wHliemer 125 URIGSmET cummbi@Geusn@ CaemeuliL@LD

Qgrens ecTeucueTay ?
How much will be required to buy 125 shares of ¥ 25 each at a discount of T 7 ?

apLIML QRETMI&E®S @meul Bret@ CeusiCoum GLkisaiieyr 1 £.4, 2 £.4), 3 8.8, HmIb
4 8.8 jerelle g&smaflenw eumkGHDIT erarfled, FrmaMuing e, aHLTLIGE THSEET

FlGeom flymb Fasmefl Sj6UTTE® euMBISLILILL &) ?
A person purchases tomatoes from each of the 4 places at the rate of 1 kg, 2 kg,
3 kg and 4 kg per rupee respectively. On the average, how many kilograms has

he purchased per rupee ?

Spsaa leunmhisErsE @L(Bneys QoHpaneus samsd(Hs.

Sxy=120, 3x?=90, Sy?=640.
From the following data, calculate the correlation coefficient 3xy=120, Sx2=90,

Sy?=640.
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2o, Epsacri Hlsbejpoend Danari. Al gfer auevamuiemniients suenys

M peys e 1 2 3 4 5 6 v
BL_eg (U Thensi

e 1 l - 3 4,5 | 56

i ey s
Draw the event oriented network for the following data.

BEvents 1 2 3 4 5 & 7

Immediate
- 1 1 2,3 3 4,5 5,6

Predecessors

30. @wwid (3, = 1) OO D 4 DG LW UL GH6T FDATUTLNLS STeTs.

Find the equation of the circle with centre (3, —1) and radius is 4 units.

u@$ - I / PART - III

GOty : amaCueb e lamss@EpsE e wellEsan. eflerr erar 40 -5
s muwng ellenLwefl&sa|. Tx3=21

Note : Answer any seven questions. Question No. 40 is Compulsory.

31. Coiwry el wpeopuie $1és :
2x+5y=1
3x+2y=7
Solve by using matrix inversion method.
2x+5y=1
3x+2y=7

nl
32. n=5 wHmb r=2 ergydb GQumps T ALIMUE STeTs.

Evaluate when n=5 and r=2.

o« Y
rl (n — r)!

[ Sipuys / Turn over
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33.

34.

35.

36.

Hlgyeys :

(cosa = cnsp)" + (sino = sin[l)2 = 481’1‘1")'(&?21%)

Prove that : (cosa ~ cosp)? + (sina ~ sinp)? = 4Sin2(a; BJ

. ¥n?
wHI9Es : lim .

noe pd

T2

: 2N
Evaluate lim 3
n-e n

@ elpLamUITETT SETaeL LI eUTy SE@SWTATHEES (5 aumisSHE 400 SEGSET
Qarepr QL aener eulph@dnm. efdpuemenurert e pusHwimariLiblmHg! G
i@ dummener I 50-6@ curai@dont. 2 HusdurerfliBlmhg eummsUUEHD
Cammaa Geave) @ Canmeaisd I 75, @@ aGLsSnstar 16 How Csass
Q&eu’amangj 2 HLsH Qeaelar 7.5% aafled, B <smus Canmed iarey SIS,
A dealer has supplied his customer 400 units of a provduct per week. The dealer

gets the product from the manufacturer at a cost of ¥ 50 per unit. The cost of
ordering from the manufacturer is ¥ 75 per order. The cost of holding inventory is

7.5% per year of the product cost. Find EOQ.

@@ pui @aiang apLsdar Qrbusdaid T 4,000 wsad Qeudpri.
Q@THEG 14% &l () el deLsEdualed, 10 umLisd sfsg HaLse
wpéiteys Agrasidenans srams. (1.14)10=3.707]

A person deposits T 4,000 in the beginning of every year. If the rate of compound ‘
interest is 14%, then find the amount after 10 years. [(1.14)10=3.707]
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37. @ Us@L e L iuGbeunpg)
(i) @@ ust aar upeughara flepssa) s,
(i) epern AOF et N Quilu eraranant QUmeusHETE [Hl&DoH
STERTS.

A die is thrown. Find the probability of getting :

(i) a prime number,

(ii)' a number greater than or equal to 3.

38. yarailwe wpmb safigelwdad 10 wraveursar Qupp sreufmssdar §Gw

Qsr@ssiLl_(HeTere.

yerefiuQwer | 1 2 3|4 |5|6 |7 | 8] 9]|10
sefigeue| 1 | 4 | 2 | 5 |3} 9|7 |10]| 6| 8

&7 @Lmeys Qs(pameud srems.
The following are the ranks obtained by 10 students in Statistics and Mathematics.

Statistics 1 2 3 4 5
Mathematics| 1 4 2 5 3 °]

)]
J

8
10

O

10

~J
()]
[00]

Find the rank correlation coefficient.

- 39. Spssam Crflwe i 10 6 sar&and cuanLIL LD @a)Lb Siés.

Xj—xy < —1; —x;+x,<0 LHYID X4, xQBO. aarp SLOUTDSEREE QanThis
2=3x) +4x, -an BLGL wlmus snedrs.

Solve the following LPP, by graphical method.

Maximize z=3x; +4x,

subject to x; —x, < —1;

=X, +x,<0 and x,, x,=0

40. fly=x" bpmid f£'(1)=5, erafle, n -@en WHUY ErTs.
If ld=>" and f'(1)=5, then find the value of n.

[ ®muys / Tum over
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L@ - IV / PART - IV
7#5=35

GBIIY : Simenss cfamss@nsEnd ol walésob.

Answer all the questions.

Note :
41l. (=) @m Qurmertgry w6 P, pmb P, eren @ @gw@lm&nm:ﬂam
e ememar. eupdlen Geamen wHMID afliiy Heeurd (AHUTW Gamigsartlev)
Spaumd i Leaumaruied QasT@HasruL [Herers.
2 Hugdwment | 2 LGuirdiCum Qfey . ! s
Gfay P, o @odis Gaees | Quomis 2-PUEH
P, 10 25 15 50
P2 20 30 10 60

(i) Gamfler mu safllaw e(pgs.
(ii) anr&dlerev-mewer Hlubsmarsaiaruly. oienLoLSer srsHusms
GanglésayLb. :
2{60608)

(<) tana = 31 WOOILD tanp = % eTafled, 2a+p = % ereur Flmieys.

(a) In an economy there are two industries P; and P, and the following table
gives the supply and the demand position in crores of rupees.

(b)

Production Consumption Sector Final Gross
Sector P; P> demand output
[ P, 10 25 15 50
[ P, 20 30 10 60

(i) Write the technology matrix.

(i)

OR

If tanoa = l and tanf = :;. then prove that 20+B = %

Test Hawkin’s - Simon conditions for the viability of the system.
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4x + 1

(=) m GTLISMETL LigH 1enemmiisenis Lonhmis.

G ‘ JEATVEVE ]
(<2t) UL efleuriisenss syref edasssms oigen syrefows Gsrar®

STesTS,

9oy ert_Qouafl] 0-5 | 5-10 | 10-15 | 15-20 | 20 - 25

< 6L QU Esr 3 5 12 6 4
(2] Resolve into partial fraction titales
- (x =20 (x+ 1)
OR

(b) Compute the mean deviation about mean from the following data :

Class Interval | 0-5 | 5-10 | 10-15 | 15-20 | 20-25
Frequency 3 5 12 6 3

(<9*) (0, 0), (1, 2) LOMID (2, 0) @Hw Lydraflsafien auflwunss QoI el L e

FLORTUTL LS &HT6HTs.
3|06V

(=) G sriu_Herer g&m@s@é@.mmwmm@umu auanis. GLogib eTevedm Sl
DewIEGLD pHesw Glg,rr;é;é; grow (EST), (93([_'56‘6')§>U_J Wplyey sTeod (EFT)
slusHw Qgr_ss STeb (LST) wpmid sBusHL 1pigey &red (LFT) srars.
STe @ o ahs uﬁmg;mu_lmb EILLLD (Pireuanl il @G STOSMSW|D SIS

1-2]11-3|12-4]13-4(3-5|14-5|4-6|5-6 '

6 5 10 3 4 -6 2 9

Gouenev -

FTeLD

(a) Find the equation of the circle passing through the points (0, 0), (1, 2) and
(2, 0).
‘, ~ OR
() Draw the network and calculate the earliest start time, earliest finish time,
~latest start time and latest finish time of each activity and determine the

| critical path of the projeét and duration to complete the project.

[Jobs -2 [1-3 244 | 3-4[3-5]:4-5T4-6[5-6
Duration 6 5 10 3 4 6 2 9

[ Spuiys / Turn over V
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44'.

45.

dy
(x

ATV S

(1) x=ab whyth y = 2 - Y
OppID Yy 0 arentley, + . = () Grent !f,]m,cnp}’..

P T . + 1) .
() afly, QunabsBnd apaopu@es 1+ 2+ 3 + . 4 n = ﬁ%‘“"“v (repansssi

neN) aran Blmieya.

ol a
(@) Ifx=a0and y = o then prove that -(-:-y« + ¥ =0

dx x
OR
(b} Using mathematical induction method, prove that
14243+ ... +n=n(n+1),neN

(=) A ererp @ ummaf e Cgemeau q=13—2p1-—3p§ Tafler, p;=py=2 erenp
: . Ea . Eg
WSS EHEE ET’z LD MILD EE erarn LGH Qpdlpssaamens srans.
S{6V605

(%) T 100 wawdliyerer 15% LR GeispanLw Lki@samer b Himeuard 20%
i$s efleneoufe <iMeilggienens. & m.Corsean eremUeuir <iflev T 29,040-g
Wad® Qewdpmi erafled, emaiHeauaTaUDONE SraTs.
(i) & Cuorsemed eumkisliL@in Ub@seten erammentléEans.
(i) @uurigsailamig eumsE ol sEn UHLTHST eu(HLOTEILD.
(i) seumarLw w5y dlBHg HaLsEn aumwmer EETONEIEY

(a) Thp demand for a quantity A is q= 13-2p, - Spg. Find the partial elasticities

g Eq
Ep; and Ep, when p; =p,=2.

OR
(b) Mohan invested ¥ 29,040 in 15% of ¥ 100 shares of a company quoted at a
premium of 20%. Calculate :
(i) The number of shares bought by Mohan.
(i1) His annual income from shares.
(iii) The percentage of return on his investment.
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46. (3) Yo wuuld 3 Heutiyy Bod upged womn 4 Ho Hpd ubgsEsbD,
Quenreug el 5 Seuliy Bl upgisar whmb 6 Ha HO0 LbgsEHD
eararen.  arGsmeb @0y Ll mpg, GCorbEs®ss L ubg SHeuliny Lbg
TR, Ditiupg @remineug UMb CaibAsHEsILGauSHETE
Blewsse wng?

AT
(=) 3X-2y=5 LEYD X-4Y =7, erenp Qgriyl Curses Can(dsEssE
(1) Qsmiy Cundgs Qewsaser wHmib
(i) @ Goeys Qsw dweupamns sem® 9y ssab.
(a) Bag] contains 3 red and 4 blue balls while another Bag Il contains 5 red and

© blue balls. One ball is drawn at random from one of the bags and it is
found to be red.. Find the probability that it was drawn from second Bag.

OR
(b) For the given lines of regression 3X—2Y=5 and X—4Y=7, find :
(1) Regression coefficients
(ii) Coefficient of correlation
%u = 2%u
47. (=) u=log(x?+y?) erafle, 92 A 92 =0 gravs ST_(N&.
AN

(<=1) 22, 4, 2, 12, 16, 6, 10, 18, 14, 20, 8 et G T D, wmmib Dy sreirs.

82u azu
3 5 — 4+ —— = 0.
(a) If u=log(x?+y?), then show that a2 ay? \
OR

(b) Find D, and Dg for the following series.
22, 4,2,12, 16, 6, 10, 18, 14, 20, 8

-00o0-
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